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TF [Post Disruption]
o

T T T T T T T T T T T T T T T T T

FFaults (L1)[AT,DT]: [1.52920, 1.51676]
- Faults (NC): [1.5292797, 2.4714802]

[ Faults (PS): [1.5292797, 2.4714802]
F Faults (PC): [1.5292797, 2.4714802]

Shot #: 2612, Param Tree: 72

E Overcurrent Trip (DCPS)
L"Auctioneered Data (idl)

C Condjtioned Data (DCPS), Limits: {-13300
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-4 -2 0 2 4
time

_ Action (idl), Max = 37060.5, End Val.= 37060.5
[ Full Action (idl), Limit = 119000., Max.=37544.6, End Val. 37060.5
| Shot #: 2612, Param Tree: 72

[ Full Action (DCPS), Limit = 119000.00, Max.=37544.801, End Val. 37060.801]
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L IDL, Circular, [-149.926, 0.0399634]
:—DCPS, Circular, [-149.92570, 0.039963378]
- IDL, Shaped [Displaced], [-149.926, 0.0399634]

" DCPS, Shaped [Displaced], [-149.92570, 0.039963378]
Shot #: 2612, Param Tree: 72
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